[ R SV
BN NS SIS RE
(H) £f 54 48 1H (F) S 64 3H 31H
(HA7 : 1)
o #B H T () R (B) FEH () - (B) i &
B SRR 7, 670, 000 7,921, 657 A 251, 657
I PEEAL T — B R E R 62, 489, 806 61,951, 179 538, 627
% TR RETE T BRI 200, 000 220, 000 A 20,000
g | |RBRIBE I 0 1,371 A 1,371
I Z DDILA 670, 000 845, 297 A 175,297
i FEIEHIAGE (1) 71, 029, 806 70, 939, 504 90, 302
d INEE ST 47, 550, 000 47,511, 117 38, 883
X A 5,517, 000 5,016, 328 500, 672
%) TR 9, 592, 200 10, 145, 467 A 553,267
gy LT SRR 4,999, 500 5, 966, 683 A 967, 183
53 Z Do X H 0 7, 000 A 7,000
TG SHE ) 67, 658, 700 68, 646, 595 A\ 987,895
FEITHE IR 3)=(1)-(2) 3,371, 106 2,292, 909 1,078, 197
[
it
A Tt T i el (4) 0 0 0
ﬁk I 7 PE A5 S 940, 000 947, 100 A 7,100
(ii]
e *
iy
% H
”; it 2 E i 55 S EE (5) 940, 000 947, 100 A 7,100
i B A A N S 2R (6)=(4) - (5) A 940, 000 A 947,100 7,100
[
£
DA Z D OIETIIRAGE (7) 0 0 0
% ZOMOEBIC X 5 X H 30, 000 30, 000 0
%
&
Iz
|
%
ié Z OGS X HEE (8) 30, 000 30, 000 0
Z DMOIETE RIS A (9)=(7)-(8) A 30, 000 A 30,000 0
TS (10) 0 B 0
A0
BB SICEREART (1D)=(3)+(6)+(9)-(10) 2,401, 106 1, 315, 809 1, 085, 297
AR E SRS (12) 0 29,783, 118 A 29,783,118
YR HE AR E (1) +(12) 2,401, 106 31, 098, 927 A 28,697, 821




